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Ans

Comprehension:

The Olympic Games are known as the world’s foremost athletic competition. Over 200 nations participate in this event
that happens once in 4 years. And in these four years, every two years, they alternate with the Summer and Winter
Olympics. There has also been the addition of the Paralympic Games, the Youth Olympic Games, the five Continental
Games, Deaflympics, the Special Olympics, and the World Games. This is for the inclusion of all athletes, non-disabled.
disabled, and different age groups. The World Games is for sports that are not included in the main Olympic Games.
Different nations host the games every Olympic. Some cities where these Games have been held are Vancouver,
London, Sochi, Rio de Janeiro, Pyeongchang, Tokyo. etc. A body known as the International Olympic Committee
oversees all matters regarding the Olympic Games. It is an event that garners worldwide attention and gives all athletes
an epportunity to bring honor to their nation.

The Olympic Games have a significant role and effect in the sports world but also culturally. It involves over 200
nations around the globe in the event that happens every four years. The Games are watched worldwide, not only by
spectators but also by the international community. as the games are broadcasted worldwide. There are even archives
with footage of the games so that they can be rewatched at any moment. The games have a strong impact on not only
the personal but also the national and international identity as the games are a significant event. Nations take pride in
athletes who have qualified for the games and even more for those whoe win medals. It is a sense of pride and an
awareness of cultural heritage with the medals and the ceremonies in the Olympies. The Olympics have left a mark of
pride on national identities over the years.

SubQuestion No : 1

Identify the suitable title for the passage.
X 1. Games and Olympics

« 2. The Olympic Games

X 3. Olympic Games and Globe

X 4. Countries and their Olympic games

Question ID

1 630680446392
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801742898
6306801742900
6306801742899
6306801742901
Answered

2




Q.2

Ans

Comprehension:

The Olympic Games are known as the world’s foremost athletic competition. Over 200 nations participate in this event
that happens once in 4 years. And in these four years, every two years, they alternate with the Summer and Winter
Olympics. There has also been the addition of the Paralympic Games, the Youth Olympic Games, the five Continental
Games, Deaflympics, the Special Olympics, and the World Games. This is for the inclusion of all athletes, non-disabled,
disabled, and different age groups. The World Games is for sports that are not included in the main Olympic Games.
Different nations host the games every Olympic. Some cities where these Games have been held are Vancouver,
London, Sochi, Rio de Janeiro, Pyeongchang, Tokyo. etc. A body known as the International Olympic Committee
oversees all matters regarding the Olympic Games. It is an event that garners worldwide attention and gives all athletes
an epportunity to bring honor to their nation.

The Olympic Games have a significant role and effect in the sports world but also culturally. It involves over 200
nations around the globe in the event that happens every four years. The Games are watched worldwide, not only by
spectators but also by the international community. as the games are broadcasted worldwide. There are even archives
with footage of the games so that they can be rewatched at any moment. The games have a strong impact on not only
the personal but also the national and international identity as the games are a significant event. Nations take pride in
athletes who have qualified for the games and even more for those who win medals. It is a sense of pride and an
awareness of cultural heritage with the medals and the ceremonies in the Olympies. The Olympics have left a mark of
pride on national identities over the years.

SubQuestion No : 2
Identify the central theme of the passage.
<1

The Olympic Games have a significant role and effect in the sports world but not culturally.

X2
The Olympic Games garners worldwide attention however does not give all athletes an opportunity to bring honor to

their nation. It is quite a challenging time for the athletes and people taking part in it and does not bring anything good
to the.

X 3
The international communities do not like to broadcast the games worldwide. It is limited to the host country only.
o 4.
The Olympic Games have a strong impact on not only the personal level but also the national and international identity
as the games are a significant event and it is a sense of pride and an awareness of cultural heritage with the medals and
the ceremonies presented in the Olympics.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

630680446393
6306801742902
6306801742904
6306801742903
6306801742905
Answered

4




Q.3

Ans

Comprehension:

The Olympic Games are known as the world’s foremost athletic competition. Over 200 nations participate in this event
that happens once in 4 years. And in these four years, every two years, they alternate with the Summer and Winter
Olympics. There has also been the addition of the Paralympic Games, the Youth Olympic Games, the five Continental
Games, Deaflympics, the Special Olympies, and the World Games. This is for the inclusion of all athletes, non-disabled,
disabled, and different age groups. The World Games is for sports that are not included in the main Olympic Games.
Different nations host the games every Olympic. Some cities where these Games have been held are Vancouver,
London, Sochi, Rio de Janeiro, Pyeongchang, Tokyo. etc. A body known as the International Olympic Committee
oversees all matters regarding the Olympic Games. It is an event that garners worldwide attention and gives all athletes
an epportunity to bring honor to their nation.

The Olympic Games have a significant role and effect in the sports world but also culturally. It involves over 200
nations around the globe in the event that happens every four years. The Games are watched worldwide, not only by
spectators but also by the international community. as the games are broadcasted worldwide. There are even archives
with footage of the games so that they can be rewatched at any moment. The games have a strong impact on not only
the personal but also the national and international identity as the games are a significant event. Nations take pride in
athletes who have qualified for the games and even more for those who win medals. It is a sense of pride and an
awareness of cultural heritage with the medals and the ceremonies in the Olympies. The Olympics have left a mark of
pride on national identities over the years.

SubQuestion No : 3

Select the most appropriate meaning of the given word below.

Garner

«” 1. to collect something, usually after much work or with difficulty

#5 2. a particular group of people or things that share similar characteristics and form a
smaller division of a larger set
& 3. to get and keep things of one type

#< 4. an activity, such as a job, that a person uses physical or mental effort to do, usually
for money

Question ID :
Option 1 1D
Option 21D :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :

630680446395

: 6306801742912

6306801742913

: 6306801742911

6306801742910
Not Answered




Q.4

Ans

Comprehension:

The Olympic Games are known as the world’s foremost athletic competition. Over 200 nations participate in this event
that happens once in 4 years. And in these four years, every two years, they alternate with the Summer and Winter
Olympics. There has also been the addition of the Paralympic Games, the Youth Olympic Games, the five Continental
Games, Deaflympics, the Special Olympies, and the World Games. This is for the inclusion of all athletes, non-disabled,
disabled, and different age groups. The World Games is for sports that are not included in the main Olympic Games.
Different nations host the games every Olympic. Some cities where these Games have been held are Vancouver,
London, Sochi, Rio de Janeiro, Pyeongchang, Tokyo. etc. A body known as the International Olympic Committee
oversees all matters regarding the Olympic Games. It is an event that garners worldwide attention and gives all athletes
an epportunity to bring honor to their nation.

The Olympic Games have a significant role and effect in the sports world but also culturally. It involves over 200
nations around the globe in the event that happens every four years. The Games are watched worldwide, not only by
spectators but also by the international community. as the games are broadcasted worldwide. There are even archives
with footage of the games so that they can be rewatched at any moment. The games have a strong impact on not only
the personal but also the national and international identity as the games are a significant event. Nations take pride in
athletes who have qualified for the games and even more for those who win medals. It is a sense of pride and an
awareness of cultural heritage with the medals and the ceremonies in the Olympies. The Olympics have left a mark of
pride on national identities over the years.

SubQuestion No : 4

Select the most appropriate SYNONYM of the given word below.

Pride

« 1. Glory
X 2. Disgrace
X 3. Humility
X 4. Blemish

Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :

630680446394
6306801742907
6306801742909

: 6306801742906

6306801742908
Answered
1




Q.5

Read the below passage:

The Beimt Law School was a centre for the study of Roman law in ancient days in Beirut. It thrived under the patronage
of Roman emperors and was the Roman Empire's pre-eminent centre of law until 551 AD. The Roman law schools had
repositories of imperial constitutions and formalized the study and practice of law to relieve the busy imperial courts.
The archiving of imperial constitutions eased the task of judges in referring to legal precedents.

Which one of the following is the CORRECT logical inference based on the information in the above passage?

I) ‘With the destruction of the Beirut Law School and no imperial constitutions and formalized laws, the

administration of law and justice in the Roman Empire suffered.

I The Beirt Law School as a repository for imperial constitutions and as a centre of law allowed Roman
Jjudges to speed up the cases in imperial courts.

III) The Roman empire did not have any pre-eminent Centre of law before 551AD.

Ans 1. I only
X 2. I II & III only
X 3. III only
X 4. II & III only
Question ID : 630680446402
Option 1 ID : 6306801742936
Option 2 ID : 6306801742937
Option 3 ID : 6306801742934
Option 4 ID : 6306801742935
Status : Answered
Chosen Option : 3
Q.6 Read the below passage:
People are always less happy to accept scientific data they feel contradicts their preconceived beliefs. No surprise here;
no human likes to be wrong. But science isn't supposed to care about preconceived notions. Science, at least good
science, tells us about the world as it is, and not as some wish it to be. Sometimes what science finds is consistent with a
particular religion's wishes. But usually it is not.
Which one of the following is the CORRECT logical inference based on the information in the above passage?
I) A good science is based on concrete results obtained through assessing the hypothesis.
1) A good science is not very well received by educated people.
III) A good science always supposed to care about preconceived notions.
Ans X 1. II only
X 2. I II & III only
X 3. III only
« 4. T only
Question ID : 630680446401
Option 1 ID : 6306801742931
Option 2 ID : 6306801742933
Option 3 ID : 6306801742932
Option 4 ID : 6306801742930
Status : Answered
Chosen Option : 4




Q.7

Ans

Comprehension:

Refer to the below poem and answer the questions.

Driving from my parent’s home to Cochin last Friday morning, | saw my mother, beside me,
doze, open mouthed, her face ashen like that of a corpse and realised with pain that she was
as old as she looked but soon put that thought away, and looked out at

Young Trees sprinting, the merry children spilling out of their homes,

but after the airport’s security check, standing a few yards away, | looked again at her, wan,
pale as a late winter’'s moon and felt that old familiar ache,

my childhood’s fear, but all | said was, see you soon, Amma, all | did was smile and smile and

smile.
SubQuestion No : 7

Select the most appropriate meaning of the given word below.

Sprinting

” 1.to run as fast as you can over a short distance, either in a race or because you are in
a great hurry to get somewhere

#< 2. to move or do things more quickly than normal or to make someone do this

/< 3. to say that you will not do or accept something

#< 4. an amount of money that is borrowed

Question ID : 630680446400
Option 1 ID : 6306801742929
Option 2 ID : 6306801742926
Option 3 ID : 6306801742927
Option 4 ID : 6306801742928
Status : Answered
Chosen Option : 1
Comprehension:
Refer to the below poem and answer the questions.
Driving from my parent’s home to Cochin last Friday morning, | saw my mother, beside me,
doze, open mouthed, her face ashen like that of a corpse and realised with pain that she was
as old as she looked but soon put that thought away, and looked out at
Young Trees sprinting, the merry children spilling out of their homes,
but after the airport’s security check, standing a few yards away, | looked again at her, wan,
pale as a late winter’'s moon and felt that old familiar ache,
my childhood’s fear, but all | said was, see you soon, Amma, all | did was smile and smile and
smile.
SubQuestion No : 8
Q.8 Identify the central theme of the poem.
Ans X 1.
The narrator’s mother is ageing gracefully, and the author is very ecstatic about it.
o 2.
It depicts the dilemma of a child seeing her mother getting old. The lifeless and pale face of the mother pained the poet's
heart.
< 3.
The winter’s moon looks beautiful and is the much-awaited sight for people.
~< 4
The narrator’s childhood fears were baseless and does not hold any importance in her life.
Question ID : 630680446398
Option 1 ID : 6306801742918
Option 2 ID : 6306801742919
Option 3 ID : 6306801742920
Option 4 ID : 6306801742921
Status : Answered
Chosen Option : 2




Comprehension:

Refer to the below poem and answer the questions.

Driving from my parent’s home to Cochin last Friday morning, | saw my mother, beside me,
doze, open mouthed, her face ashen like that of a corpse and realised with pain that she was
as old as she looked but soon put that thought away, and looked out at

Young Trees sprinting, the merry children spilling out of their homes,

but after the airport’s security check, standing a few yards away, | looked again at her, wan,
pale as a late winter’'s moon and felt that old familiar ache,

my childhood’s fear, but all | said was, see you soon, Amma, all | did was smile and smile and
smile.

SubQuestion No : 9
Q.9 Identify the suitable title for the poem.
Ans X 1. Childhood memories and ache

« 2. My Mother at Sixty-six
X 3. Winter’s moon and my Amma

X 4. Driving from my parents’ home

Question ID : 630680446397
Option 1 ID : 6306801742916
Option 2 ID : 6306801742915
Option 3 ID : 6306801742917
Option 4 ID : 6306801742914
Status : Answered
Chosen Option : 1
Comprehension:
Refer to the below poem and answer the questions.
Driving from my parent’s home to Cochin last Friday morning, | saw my mother, beside me,
doze, open mouthed, her face ashen like that of a corpse and realised with pain that she was
as old as she looked but soon put that thought away, and looked out at
Young Trees sprinting, the merry children spilling out of their homes,
but after the airport’s security check, standing a few yards away, | looked again at her, wan,
pale as a late winter’'s moon and felt that old familiar ache,
my childhood’s fear, but all | said was, see you soon, Amma,.all | did was smile and smile and
smile.
SubQuestion No : 10
Q10 Select the most appropriate SYNONYM of the given word below.
Wan
Ans X 1. Red
X 2. Rosy
X 3. Glowing
+ 4 Sick
Question ID : 630680446399
Option 1 ID : 6306801742922
Option 2 ID : 6306801742923
Option 3 ID : 6306801742925
Option 4 ID : 6306801742924
Status : Not Answered
Chosen Option : ==

Section : Part 1 General Odia




Q1 Q6 A6M 6RINF ATE FJRYCH °F ARAIGS ?
Ans 2 1. 98 QQI9R 9F 986 99e J99 99 F6R
X 2. 925416 ca16al QIdiqion asR
X 3.62I89 9498 F6R
X 4. 2206389 Q909 ARIFER §F 6 FRY F6R

Question ID : 630680446414
Option 1 ID : 6306801742976
Option 2 ID : 6306801742977
Option 3 ID : 6306801742974
Option 4 ID : 6306801742975
Status : Answered
Chosen Option : 1
Comprehension:
“AEAIN L2l JRI6S CIRl OF FA6E!
Q8N <2l }191€) AN SRES!
QAN L2l SRl 1R Y199 266P
ARl G2l AR 69T Q1R SR6H 1"(GLRIsll)
SubQuestion No : 2
Q2 §a 9R A2 --memeev |
Ans X' 1. Q4
X 2.a9
K 3.69960l
o 4. 919
Question ID : 630680446410
Option 1 ID : 6306801742961
Option 2 ID : 6306801742959
Option 3 ID : 6306801742958
Option 4 ID : 6306801742960
Status : Answered
Chosen Option : 4
Comprehension:
“AEAIN L2l JRI6S Clal OF F68l
QG <2ll }191€) AN SRES!
QAN 2l SRl 1R Y199 S66P
AfoIml B2l ASRI 698 AR A6 1"(SLRIN)
SubQuestion No : 3
Q.3 QU6QIR SBIHT6R ‘SARI S8 212 a'€1?
Ans X' 1 2918
o 2.9gR
X 3. QlRal
X 4,609
Question ID : 630680446409
Option 1 ID : 6306801742954
Option 2 ID : 6306801742957
Option 3 ID : 6306801742956
Option 4 ID : 6306801742955
Status : Answered
Chosen Option : 2




Q.4
Ans

Comprehension:

“CEIN Qell g6 S 98 Fa6dl

FSiaN g2l K191 AQLEN SR

FSiaN g2l 99R! 916 G196 26sP

Adioml G2l 2SR 698 F1R 6P 1"(SLeIGl)

SubQuestion No : 4
29g” f19a Saqigldese 98 @'61?
o 1.59198

X 2.3qu8
X 3.996
X 4,984

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446412
6306801742968
6306801742969
6306801742967
6306801742966
Answered

1

Q.5
Ans

Comprehension:

“GEFAIN D2l RI6S SIRl 98 Fa6E

8N Qell 1916 ARl 9968

AEQN G2l 9URI AR F10Q 266h

AEeIRI 22l AR 698 G1R SR6E I"(SLRUSI)

SubQuestion No : 5
609 G187 CIghI 9a9 QAIRIes f19?
& 1. Qlonaer

X 2.991

X 3.9989l
X 4. 99991

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446411
6306801742962
6306801742963
6306801742964
6306801742965
Answered

1




Comprehension:

PRNGSI TR AR TR 99 606¢ 9 AR 2I6E 2F KRARIOER TE68 ARCTER RSS!
Q@6n AIEl 9EIY, 6957 699 g6€, 9a° Ie gdeq cal 1Eca YIRSl ARE 90el Fe6s
QAQUE FRAR | TG A6R FEY6M, “694R 6915 YIS 2GY 9% gIg AN ¢ ATE QRS 9e°
696& 2GS 6aUITLIR 2Y, NN QLD IERT | 629167 QNG | IRdg G52 €69, SeEIal
AB69, 699 Q18 AG°CR 6MER QIY ARRT 62N QF6R KGR FUI 7 FIee! dIg 621
28 I"IeR 2869 SIFG! 2lF KFARAITR 63VDS GAGS! 8 2RTS AFQ G2 QEIRRT | IR
6300R @G0! 9 ARG IR IS° ARIFS FISF6R FFIY QRIR TG AR TG AFEEE A€l
aqQIgage | .

2N 15 896! 69R HQY AR, FIEl INAR Y& AV6R 62 G6L | 69¢ ALRER 64CN6R
6905l GER6R IGT | GAE B TAIFL 6RIF 6UAR ANEA F1F ALAITE @98 GlILl A8
QUELNS G6< | 26IS §IQY, 9F B 2IFE 2iFl 6RIFFR YaEl B QRUIF ARSI |

6IRGIGE ACTER AGAS TIBI 26E1 GRARINEFA 96° §F 6 AJIF1 SIFRIR ALFIKS! gad
R0 REQIGU6ER 8 RAYINE & FARI AR ALUF FQG | IR YFAEA SAE TR IR 68,
6RIng Q56 JRIEH Y ARAIRS | gafdld 6AIRRIAIR QITIRIST @5 4g6SeaeRIS!
adolugiea AR 99E 6NN F2ADS |

SubQuestion No : 6

Q.6 @Iasigdlesa g2el G galig AITsNee] /612
Ans X' 16919 @9RQ 2 |
X 2. 939 Ay
X 3. EIIQJIQG? @1RNERN YRG!
o 4. 61194, 99 B QIQ9E
Question ID : 630680446405
Option 1 ID : 6306801742942
Option 2 ID : 6306801742944
Option 3 ID : 6306801742943
Option 4 ID : 6306801742945
Status : Answered
Chosen Option : 4
Comprehension:
IRNeel SlIdm 22Q] G“&‘@ IR 6966 Qg AR 2U6S1 2UiEl RRARIAET FEI68 AREFER JRIFS!
*g6m Qg Q‘KI\‘I 694G 699m ‘:16@ Q9@ qu@a G2 LR ARG 'PJGQ 221 G168
QAGYE RPN | IRD 26R FEY6M, “6G4HIR 6915 FIBQ QY I dIg and ?1219%‘ 9mE Qe
6Q%IR 8|61é1@ 6QUIGRIR 2ig, A1GINR QAR ORT | 697163 QIRC | IR 92 Q69 SIedlQl
1869, 699 Q17 2F°0F 6MIEH QI9 29RE 62919 969 RIeQ FduIg egg olleel did 6LIn
QER I'IQf @62 FIFGR1 ZII?} REARIAEFR 63VG @GSl B EJIQJIQE? ‘21?’!@ Q2 QEIRER | IR
6594R 9090l 99 @R9l AR 95° ARIFS 19569 A9 QLR 9R%! AR 2FG AFFEE AQYE]
eAQIgage | .
2T 19 KRGl 64Q HIGY SIIE, SIT IR IF IVER LAY Q6L | 604 ALRER 62CN6T
6Qlgl QQGSQQ?@ | QRQ 6 FAULY: 6AIR 6T AFTER R AGIES 298 QIgl A&
QGG Q6% | 2GS GlIQY, @9 B 2Ige 2l 6RIFFA JaIFl B QAR SRS |
Gﬂlﬁ“a‘lﬁ@ 2el6R0q Ae9e Il 26l KRS 98° 49 6 99Ia1 QIR 2ILFIRT] YRl
[0Q] RERAIER 9] QIR 98 /%%l 3[sgatalle] A28 | 9Q dal6a 996 79 daIa 6291,
SRUNY 25 ?1@%6) od dRalae | S],Qﬁ‘ﬁlél 6IRAIAIS FITURISN 95 4F69CR6RIAN
adoiaies AR QUYL 64IFlID QAL |
SubQuestion No : 7
Q.7 6F9de @O9CI FUR 9Q LAUARARG?
Ans X 1.9doq G2l F196Q RIGSI 2FE K6m
o 2. 2RIGR F19969 TIY QLR 696
X 3. 9IRQ1% 99 QUL
X 4. 4892 ¢l slinsm
Question ID : 630680446406
Option 1 ID : 6306801742946
Option 2 ID : 6306801742947
Option 3 ID : 6306801742949
Option 4 ID : 6306801742948
Status : Answered
Chosen Option : 2




Comprehension:

PRNGEI TR KRR TR 99 606¢ 9 AR 2I6E A KRARIOEF TE68 ARCTER RS
Q@6n AIEl 9EIY, 69557 699 g6€, 9a° Ie gdeq cal fEca JIFE! AR 90el Fe6s
QAQUE FAR | ARG 2A6R FEY6M, “694R 691FY QISR 2FY 97 gIg AN ¢ ATG QRS 9e°
696& 2GS 6@UITLIR 2Y, NN QLD IERT | 629167 QNS | IRdg G52 €69, SeEIGl
AB6Q, 699 Q18 AG°CR 6MIER QIY ARRT 62N QF6R KGR FUI 7 FIee! gIg 621
QL8 I"IeR 2869 SIFG! 2lF KT 63VDS GAGS! 8 2RUTS A F2 QEIRRT | IR
63009 @G0! 9 AG! AR IS° ARIFS FISF6R FFIY QRIR TG AR TG AFEEE A€l
aqQIgage | .

2N 15 896! 69R HQY AR, FIEl INAR Y& AV6R 62 G6L | 69¢ ALRER 64CN6R
6905l GERER I9T | GAT B TAIFL 6RIF 6AR AINER F1F ATAITE @98 GILl A8
QU6LS G6< | 2GS §IQY, 9F B 2IFE el 6RIFFR YaIEl B QAT ARSI |

6IRGIGE ACTER AGAS FIBI 26El GRARINEFA 96° §F 6 AFIF1 SIFRYR ALFIKS! gad
04 R6QIG6R 8 RAJINE 98 KR AR ALUF FQG | IR YFAER GG TR IR 68,
6RIng Q56 JRIEH ¢ ARAIRS | Fafdld 6AIRRIAIR QITIRIST @5 4g6SeReRIS!
adolugiea AR 99E 6NN F2ADTS |

SubQuestion No : 8

Q.8 QUERID AFERLTN RALYD 11T |6l 62IRAUER ?
Ans 2 1. JIFQIR YA QIS
X 2. 994191 62IRFIR QIS
X 3. Qe g6 6 aaqul
X 4. Q9919 K196l
Question ID : 630680446404
Option 1 ID : 6306801742938
Option 2 ID : 6306801742941
Option 3 ID : 6306801742939
Option 4 ID : 6306801742940
Status : Answered
Chosen Option : 4
Comprehension:
IRNeel SlIdm 28SI %‘9 Q. 6069 Qg AR 2U6S1 el RRARIAET FEI68 UREFER JRIFS!
*g6m Qg 9819, 6957 6997 962, 99° I8 qaj@a 32 188 YPNGSI aa@ 201 G168
QAQUE SRR | SRR 2A6R FTY6M, “6961R 69T YIBR 2R 9§ QIg AN qg%‘ 9mE 9Q°
6QER 2GS 6RUITLIR 2iY, YR AT JERT | 697168 ARG | IRAG 62 V69, SIEIS
(1869, 699 Q19 UF°6F 6MIER Sl ART 62T AF6a RIGa G &g dlee! giY 621
QER I"I9R A6 ARG 2AlFl FFARIFGIFR 65LR @RGG! 6 ARUTR AR |2l QIRas | 9a
63009 @AGC! 92 KRR AN 98° ARITR FINFER FYIF QRER FAR AR 2IFIG AFF6E ARYE
QARIq dge | ' .
2T 19 FECl 64Q HIGY SIE, SIT IR JF IVER LAY Q6% | 604 ALRER 69AN6T
699l RIRER AFE | @RG B T AR CURT AIFER BT ATIITS @98 SIgl A8
QUEIGN @68 | 2GR §lleY, @9 B 2lge 2IF MR el G QIR 2SR |
6dIRAIGE 2el6R0q Ae9e Il 26l REARINEFA 99° 67 @ AR FITRUQ ALHIRS IRl
Q29I 6924469 §F AIGE 98 09! JIN AQYE 998 | IR JTAUCR A6 J99 9LIR 689,
6RIeg 96% Imiea 99 FRAIRS | 9addlid caRRIFe AITIRIN 98 IFTERCRERUS!
adslvgea AR 9199 6QITIR GADS |
SubQuestion No : 9
Q9 GIFRIE 9E6Q QRS L9 &'8l AMI?
Ans 2 1. QIQGR 6AIRCIEE G18 AR°SR, B9 697l AT6R RIFA FJUIg Q88
X 2. Q@ 6915 YR80 694l
X 3. Qe 6ARAIERR JRF6 26 QAR
X 4. QIQG6R FIQY, 99 6 QIYFLR AR Ql@
Question ID : 630680446407
Option 1 1D : 6306801742952
Option 2 ID : 6306801742950
Option 3 ID : 6306801742951
Option 4 ID : 6306801742953
Status : Answered
Chosen Option : 1




Q.10 QUAEK CRAIFFICS QISE ILRER 6AIT FERER 96E?
Ans X 169919 Q969 RITR ARIS 2SIQ

X 2. 952 26 Qg
o 3. 1399 FIQUQ 2RISR
X 4. 21964918 GTUR 2RISR

Question ID : 630680446413
Option 1 ID : 6306801742973
Option 2 ID : 6306801742972
Option 3 ID : 6306801742971
Option 4 ID : 6306801742970
Status : Answered
Chosen Option : 3

Section : Part 1 General Knowledge and Current Affairs

Q.1 Inwhich of the following vear the trial of famous freedom fighter from Odisha Surendra Sai started at the sessions court
at Raipur?

Ans 1. 1864
X 2. 1865
X 3. 1866
X 4 1863

Question ID : 630680446419
Option 1 ID : 6306801742994
Option 2 ID : 6306801742996
Option 3 ID : 6306801742997
Option 4 ID : 6306801742995
Status : Not Answered
Chosen Option : --

Q2 shifting cultivation is known by what hame in Mexico?
Ans X 1. Jhumming
X 2. Roca

« 3. Milpa

X 4. Ladang

Question ID : 630680446421
Option 1 ID : 6306801743002
Option 2 ID : 6306801743004
Option 3 ID : 6306801743005
Option 4 ID : 6306801743003
Status : Answered
Chosen Option : 3




Q.3 How much energy is released when terminal phosphate linkage in ATP is broken using
water?

Ans X 1. 31.5 kJ/mol
+ 2. 30.5 kI/mol
X 3. 3] kI/mol
# 4. 30 kI/mol

Question ID : 630680446423
Option 1 ID : 6306801743013
Option 2 ID : 6306801743011
Option 3 ID : 6306801743012
Option 4 ID : 6306801743010
Status : Not Answered
Chosen Option : --
Q.4  The salary of speaker of Lok Sabha and the chairman of Rajya Sabha are determined by whom among the following?
Ans X 1. Chief Justice of India
X 2. President of India
+ 3. Parliament of India
X 4. Finance minister of India
Question ID : 630680446422
Option 1 ID : 6306801743008
Option 2 ID : 6306801743007
Option 3 ID : 6306801743006
Option 4 ID : 6306801743009
Status : Answered
Chosen Option : 3
Q.5 In which of the following month and year “Drink from Tap” project which aims to
provide 24x7 piped drinking water, project was launched in Odisha?
Ans X 1. December 2021
X 2. November 2022
X 3. January 2023
+ 4. December 2022
Question ID : 630680446417
Option 1 ID : 6306801742989
Option 2 ID : 6306801742988
Option 3 ID : 6306801742987
Option 4 ID : 6306801742986
Status : Answered
Chosen Option : 4




Q.6 Which among the following human development approach looks at human beings as targets of all developmental

Ans

activities?

X 1. Capability approach
X 2. Income approach

« 3. Welfare approach

X 4. Basic Needs approach

Question ID : 630680446424
Option 1 ID : 6306801743016
Option 2 ID : 6306801743014
Option 3 ID : 6306801743017
Option 4 ID : 6306801743015
Status : Not Answered
Chosen Option : --
Q.7 Which among the following countries has won the most medals in recently concluded Asian games 20237
Ans s 1. People’s Republic of China
X 2. Republic of Korea
X 3. Japan
X 4. India
Question ID : 630680446415
Option 1 ID : 6306801742980
Option 2 ID : 6306801742981
Option 3 ID : 6306801742979
Option 4 ID : 6306801742978
Status : Not Answered
Chosen Option : --
Q8  Which among the following marine deposits has the most radioactive substance?
Ans & 1. Red clay
X 2. Inorganic deposits
X 3. Neritic deposits
X 4. Diatom oozes
Question ID : 630680446420
Option 1 ID : 6306801742999
Option 2 ID : 6306801743001
Option 3 ID : 6306801743000
Option 4 ID : 6306801742998
Status : Not Answered

Chosen Option :




Q.9 According to British Antaretic Survey, which among the following species is facing threat of *Quasi extinction’ due to

Ans

global warming?
« 1. Emperor penguins
X 2. Orcas

X 3. Seal

X 4. Polar Bear

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446416
6306801742984
6306801742985
6306801742983
6306801742982
Not Answered

Q.10 Who among the following viceroy of India repealed the Vernacular Press Act in 18827

Ans

X 1. Lord Canning
« 2. Lord Ripon

X 3. Lord Dalhousie
X 4. Lord Lytton

Question ID : 630680446418
Option 1 ID : 6306801742992
Option 2 ID : 6306801742991
Option 3 ID : 6306801742993
Option 4 ID : 6306801742990
Status : Answered
Chosen Option : 2
Section : Part 1 Reasoning Ability
Q.1 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically
follow(s) from the statement(s).
Statements:
All snakes are butterfly.
Some butterfly are tortoise.
Conclusions:
1. All snakes are tortoise.
2. Some tortoise are butterfly.
Ans 1. Only conclusion 2 follows
X 2. Both 1 and 2 follow
X 3. Neither 1 nor 2 follows
X 4. Only conclusion 1 follows
Question ID : 630680446430
Option 1 ID : 6306801743039
Option 2 ID : 6306801743040
Option 3 ID : 6306801743041
Option 4 ID : 6306801743038
Status : Answered
Chosen Option : 1




P

Q2 YWhich of the following four options embeds the original figure X?

Chosen Option :

) 5]
Ans 1 3
X2
3 2
X4 4
Question ID : 630680446432
Option 1 ID : 6306801743048
Option 2 ID : 6306801743046
Option 3 ID : 6306801743047
Option 4 ID : 6306801743049
Status : Not Answered
Chosen Option : ==
Q3 How is the only son of Seema's husband's father related to Seema?
Ans X 1. Wife
X 2. Brother
X 3. Father
+ 4. Husband
Question ID : 630680446429
Option 1 ID : 6306801743035
Option 2 ID : 6306801743037
Option 3 ID : 6306801743036
Option 4 ID : 6306801743034
Status : Answered
Chosen Option : 4
Q.4 Which of the following option will replace the question mark on the basis of city and their concern states.
Uttar Pradesh : Agra :: Madhya Pradesh : ?
Ans X 1. Saharanpur
X 2. Kolkata
X 3. Nagpur
+ 4. Indore
Question ID : 630680446431
Option 1 ID : 6306801743043
Option 2 ID : 6306801743042
Option 3 ID : 6306801743045
Option 4 ID : 6306801743044
Status : Not Answered




Q.5

Six friends are sitting in a circle facing towards the centre. Dev is sitting between Prasoon and Parthiv. Nitesh is sitting

between Manish and Lalit. Prasoon and Manish are sitting opposite to each other. Who is sitting immediately to the

right of Manish?
Ans 1. Parthiv
X 2. Prasoon
X 3. Nitesh
X 4. Dev
Question ID : 630680446425
Option 1 ID : 6306801743021
Option 2 ID : 6306801743019
Option 3 ID : 6306801743020
Option 4 ID : 6306801743018
Status : Answered
Chosen Option : 1
Q.6 Solve the puzzle by determining the numbers denoted by the question marks for a logically meaningful series.
12,:21,°15,.18, 18, 15,72
Ans X 1. 18,15
X2 12,21
w3 21,12
X4 15,18
Question ID : 630680446434
Option 1 ID : 6306801743056
Option 2 ID : 6306801743054
Option 3 ID : 6306801743057
Option 4 ID : 6306801743055
Status : Answered
Chosen Option : 3
Q7 Which will replace the question mark in the given series.
SALTE, 77, VO, WL
Ans K1, W
X2 UU
X3 U
« 4 Ul
Question ID : 630680446427
Option 1 ID : 6306801743029
Option 2 ID : 6306801743028
Option 3 ID : 6306801743027
Option 4 ID : 6306801743026
Status : Answered

Chosen Option : 4




4+@x1)+2-1=2

Q.8 If''means subtraction, '+ means multiplication and -’ means addition, then find the value of following equation.

Ans X 1. 29
2. 25
X3 27
X4 26
Question ID : 630680446433
Option 1 ID : 6306801743050
Option 2 ID : 6306801743051
Option 3 ID : 6306801743053
Option 4 ID : 6306801743052
Status : Answered
Chosen Option : 2
Q.9 If CBI becomes DCT and RAW becomes SBX. What MOSAD will become in the same manner?
Ans X 1. NPEBT
¥ 2. NPTBE
X 3. DOMAS
X 4 DOSAM
Question ID : 630680446428
Option 1 ID : 6306801743030
Option 2 ID : 6306801743031
Option 3 ID : 6306801743033
Option 4 ID : 6306801743032
Status : Answered
Chosen Option : 2
Q.10 Priva’s progress report card showed that her rank is 40th among 80 girls. Calculate the rank of Priya from below.
Ans X1 7]
<211
<3 31
& 4 41
Question ID : 630680446426
Option 1 ID : 6306801743023
Option 2 ID : 6306801743022
Option 3 ID : 6306801743024
Option 4 ID : 6306801743025
Status : Answered
Chosen Option : 4

Section : Part 1 Computer Literacy




Q1

Ans

Which component of the CPU acts as a bridge between the CPU and external devices?

X 1. Arithmetic Logic Unit (ALU)
X 2. Control Unit

« 3. Input-Output (I’'O) Unit

X 4. Memory Unit

Question ID : 630680446436
Option 11D : 6306801743063
Option 2 ID : 6306801743062

Option 3 ID : 6306801743065
Option 4 ID : 6306801743064
Status : Answered
Chosen Option : 4
Q.2 Which term refers to the process of removing a printer from the list of available printers in an operating system?
Ans 1. Deleting
X 2. Removing
X 3. Unplugging
X 4. Printing
Question ID : 630680446439
Option 1 ID : 6306801743077
Option 2 ID : 6306801743076
Option 3 ID : 6306801743075
Option 4 ID : 6306801743074
Status : Answered
Chosen Option : 3
Q3 What is the maximum distance a typical Ethernet L AN cable can cover?
Ans X 1. 100 kilometers
X 2. | meter
« 3. 100 meters
X 4. 1 kilometer
Question ID : 630680446438
Option 1 ID : 6306801743073
Option 2 ID : 6306801743072

Option 3 ID : 6306801743070
Option 4 ID : 6306801743071
Status : Answered
Chosen Option : 3




Q.4  Which software application is widely used for creating vector graphics and illustrations?
X 1. Autodesk Maya

X 2. Microsoft Excel
X 3. Adobe Premiere Pro
« 4. Adobe Illustrator

Ans

Option 4 ID

Question ID :
Option 11D :
Option 2D :
Option 3 ID :

630680446437

6306801743068
6306801743066
6306801743069

: 6306801743067
Status :
Chosen Option :

Not Answered

Q.5  What does e-governance in government schools aim to achieve with the help of ICT?
Ans & 1. Improve governance, transparency, and service delivery
X 2. Decrease transparency and accountability

X 3. Eliminate the need for teachers

& 4. Limit access to educational resources

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
1

630680446435
6306801743060
6306801743058
6306801743061
6306801743059
Answered

Section : Part 1 Child Development Learning Curriculum‘afid*Assessment

Q.1
Ans

In which educational approach are lessons designed around the interests and needs of the student?

« 1. Child-centered

X 2. Experience-centerad
X 3. Local-specific
X 4. Subject-centered

Option 1 ID

Option 3 ID

Status

Question ID :

630680446449

: 6306801743115
Option 2 ID :

6306801743117

: 6306801743114
Option 4 ID :

6306801743116

: Answered
Chosen Option :

1




Q.2 Which of the following is NOT a feature of a well-defined curriculum objective?

Ans

X 1. Relevance
« 2. Vagueness

X 3. Measurability
X 4. Specificity

Question ID : 630680446452
Option 11D : 6306801743128
Option 2 ID : 6306801743129
Option 3 ID : 6306801743127
Option 4 ID : 6306801743126
Status : Answered
Chosen Option : 2
Q.3 Which of the following principles does the NCF 2005 emphasize for environmental education?
Ans & 1. Infusion approach
X 2. Focus on international issues. not local ones
X 3. Limited to biology lessons
X 4. Teaching about urban landscapes only
Question ID : 630680446451
Option 1 ID : 6306801743124
Option 2 ID : 6306801743125
Option 3 ID : 6306801743122
Option 4 ID : 6306801743123
Status : Answered
Chosen Option : 1
Q.4 Which term best describes the physical and social world in-which an individual lives and develops?
Ans X 1. Society
X 2. Heredity
X 3. Culture
+ 4 Environment
Question ID : 630680446441
Option 1 ID : 6306801743084
Option 2 ID : 6306801743082
Option 3 ID : 6306801743085
Option 4 ID : 6306801743083
Status : Answered

Chosen Option :

1




Q.5 Which term refers to children who might require special attention in education due to certain physical, cognitive, or
emotional conditions?

Ans

« 1. Children with Special Needs
X 2. Children with Unique Talents

X 3. Children with School Preferences
X 4. Children with Learning Preferences

Question ID : 630680446446
Option 1 1D : 6306801743102
Option 2 ID : 6306801743104
Option 3 ID : 6306801743103
Option 4 ID : 6306801743105
Status : Answered
Chosen Option : 1
Q.6 Why is relating new information to prior knowledge important in the process of meaning-making?
Ans X 1. It ensures high scores in exams.
« 2. It provides context and relevance.
X 3. It helps in faster memorization.
& 4. Tt reduces the need for revision.
Question ID : 630680446443
Option 1 ID : 6306801743091
Option 2 ID : 6306801743092
Option 3 ID : 6306801743093
Option 4 ID : 6306801743090
Status : Answered
Chosen Option : 2
Q7 Why is reflection considered an essential part of activity-based learning?
Ans & 1. It deepens the learning experience
& 2. Tt reduces the workload for teachers
& 3. Tt ensures students memorize facts
X 4. Tt allows students to understand their mistakes
Question ID : 630680446454
Option 11D : 6306801743134
Option 2 ID : 6306801743135
Option 3 ID : 6306801743136
Option 4 ID : 6306801743137
Status : Answered
Chosen Option : 1




Q.8 Under the RTE Act, what age group of children are ensured free and compulsory education?

Ans X 1. 7-15 years
X 2. 3-11 years
X 3. 5-12 years
« 4. 0-14 years
Question ID : 630680446448
Option 1 1D : 6306801743112
Option 2 ID : 6306801743111
Option 3 ID : 6306801743110
Option 4 ID : 6306801743113
Status : Answered
Chosen Option : 4
Q9 What can be viewed as learning to predict one stimulus from another?
Ans X 1. Reflective learning
« 2. Classical conditioning
X 3. Operant conditioning
X 4. Observational learning
Question ID : 630680446445
Option 1 ID : 6306801743098
Option 2 ID : 6306801743099
Option 3 ID : 6306801743101
Option 4 ID : 6306801743100
Status : Answered
Chosen Option : 4
Q.10 Which challenge do many girl students face, especially in rural areas, leading to higher dropout rates?
Ans 1. Lack of proper sanitation facilities in schools
X 2. High competition
X 3. Lack of female teachers
X 4. English medium education
Question ID : 630680446447
Option 1 1D : 6306801743108
Option 2 ID : 6306801743106
Option 3 ID : 6306801743107
Option 4 ID : 6306801743109
Status : Answered
Chosen Option : 3




Qn

Which of the following is a common feature of a Core Curriculum?

Ans X 1. It focuses only on vocational training
« 2. It emphasizes foundational knowledge
X 3. It changes every semester
X 4. Tt is designed by students
Question ID : 630680446450
Option 1 1D : 6306801743119
Option 2 ID : 6306801743118
Option 3 ID : 6306801743120
Option 4 ID : 6306801743121
Status : Answered
Chosen Option : 2
Q12 peer pressure is most associated with which group?
Ans X 1. Teachers
« 2. Friends
X 3. Siblings
X 4. Parents
Question ID : 630680446442
Option 1 1D : 6306801743087
Option 2 ID : 6306801743086
Option 3 ID : 6306801743088
Option 4 ID : 6306801743089
Status : Answered
Chosen Option : 2
Q.13 According to Erik Erikson, during the ages of 3 to 6 years, children face a conflict between initiative and:
Ans X 1. Shame
X 2. Inferiority
¢ 3. Guilt
X 4. Mistrust
Question ID : 630680446440
Option 1 1D : 6306801743080
Option 2 ID : 6306801743078
Option 3 ID : 6306801743081
Option 4 ID : 6306801743079
Status : Answered
Chosen Option : 3




Q.14 When a child first burns their finger on a hot stove and then avoids touching it in the future, which learning method
have they utilized?

Ans X' 1. Imitation
X 2. Experimentation
X 3. Observation

« 4. Experience

Question ID : 630680446444
Option 1 ID : 6306801743095
Option 2 ID : 6306801743094
Option 3 ID : 6306801743096
Option 4 ID : 6306801743097
Status : Answered
Chosen Option : 3
Q.15 Which of the following is a key element of an activity in the activity-based approach?
Ans 1. Practical application
X 2. Multiple-choice quizzes
X 3. Standardized testing
X 4. Lecture notes
Question ID : 630680446453
Option 1 ID : 6306801743131
Option 2 ID : 6306801743130
Option 3 ID : 6306801743132
Option 4 ID : 6306801743133
Status : Answered
Chosen Option : 1
Section : Part Il Subject Contents
Q1 ‘glang’ 618 8dQ 910672
Ans X' 1. ¢+ 1él
X 2.9+ 2R
o 3.9+ 2@
X 4.9 +yg
Question ID : 630680446464
Option 1 ID : 6306801743168
Option 2 ID : 6306801743169
Option 3 ID : 6306801743167
Option 4 ID : 6306801743166
Status : Answered
Chosen Option : 3




Q.2 ‘g0’ 69 684 gSUA SYSLIR SAUAIRS ?
Ans X' 1.dl0+2

o 2.90+2
&K 3.dl+0l
K 4.909+2
Question ID : 630680446465
Option 1 ID : 6306801743171
Option 2 ID : 6306801743170
Option 3 ID : 6306801743173
Option 4 ID : 6306801743172
Status : Answered
Chosen Option : 2
Q.3 299 Q196 2R ARl &I FAKE ?
Ans 7 1. OPQIQ 67ILR 6910
X 2.99 @68l 9F
5 3. RIIFIRl QUL
&K 4. JEPRIQ 65162
Question ID : 630680446468
Option 1 ID : 6306801743182
Option 2 ID : 6306801743184
Option 3 ID : 6306801743183
Option 4 ID : 6306801743185
Status : Not Answered
Chosen Option : ==
Q4 g’ g F66I9616Q JRISl G6M 629 -
Ans .71 21209
X 2. 219489
X 3.289
X 4. 28
Question ID : 630680446463
Option 1 ID : 6306801743165
Option 2 ID : 6306801743162
Option 3 ID : 6306801743163
Option 4 ID : 6306801743164
Status : Answered

Chosen Option :

1




Comprehension:

F81 64 €901g FRd6 K69, FNIA QIT §2°NR ARSUITRR FI9E 64 ASYIEAS AIQKR URY g,
88l 69 2°91¢] 29AG ALIA F6Y, 699 AFE, ARG AFE YRFA Y2l VAYS K69, YR
QINES 698 QER Q1T | 2T 6949 F8C AALNLR A6ra 64 QERE, ARAIUNLE, FITIR
RIS KRG 647116 6THRISIR I9E F8I RIS FRRILIB 1 g9e F31 & YR FIARFNF°R0IQ AR
RAUAIRAER?
UQERAT AMENER IR Q@ @2 |
SubQuestion No : 5
Q5 gq: ' geag Sadie atallg?
Ans 71 g8
X 2.qd
X 399

X 4.2

Question ID : 630680446458
Option 1 ID : 6306801743146
Option 2 ID : 6306801743148
Option 3 ID : 6306801743149
Option 4 ID : 6306801743147
Status : Answered
Chosen Option : 1

Comprehension:

§8 68 90lq FRFe 969, FAIA QIT AR AAGUITER AIFS 62 ISUIEAIR NAKR R g,
88l 681 2°91¢] 2GRG QLA F6Y, 6GEIR ART, AAGIAG ART YR U2 VAYS K6Y, AR
QIER 69T 9E8 QIQ | 2w 6999 T8 AAQINR 26Ra 64 gE0E, ARAIUNLE, FITIN
RIF [ 6971165 659R19FIQ Ige J8I AR FRRILIE | 9ge I § YRR FIAFANF°FOIQ AR
[AUARAIER?

AZ6RET AINAFER JI QAR G |

SubQuestion No : 6
Q.6 gg: ‘AIRIAQE T’ FILIG §LIAN?
Ans X' 1. 719989 98 Qd

X 2.edo
* 3. 991918

o 4. 2Rg2l

Question ID : 630680446457
Option 1 ID : 6306801743145
Option 2 ID : 6306801743144
Option 3 ID : 6306801743142
Option 4 ID : 6306801743143
Status : Answered
Chosen Option : 4




Comprehension:

F81 64 €901g FRd6 K69, F8IR QIT §2°NR ARBUITRR FI9E 64 ASYIERF RIQKR URY g,
88l 69 2°91¢] 29AG ALIA F6Y, 69R AFE, VARG AFE YRFA Y2 VYL K69, YR
QUER 69T Q&R Q1T | 2R 6969 F86 AAQILQ 26QR 64 g80E, ARAIULG, ST
RIS FIRE 697162 684919IR I]E T8I A *QRILIE | 996 F3l & IR FIRFNL°R0IQ AR

@UIRAICR?
UPERAT ASRIRER IR Q@ G2l |

SubQuestion No : 7

Q.7 g9 ‘9ey Qae 2K’ 690 S99 SUIISIFY 6LIRAIER 2

Ans X 1.99l 2I6RI9
X 2. dQlemI
o 3. JBU6RIR
X 4. 904 29Nl

Question ID : 630680446456
Option 1 ID : 6306801743139
Option 2 ID : 6306801743138
Option 3 ID : 6306801743141
Option 4 ID : 6306801743140
Status : Answered
Chosen Option : 3
Q.8 &Y ‘9L6eaqar /Iy Qeql *588?
Ans 1. QRIRIR QU
X 2. 20999 Q14
< 3. RIYLT QB
X 4.521908 q2i8
Question ID : 630680446467
Option 1 ID : 6306801743178
Option 2 ID : 6306801743181
Option 3 ID : 6306801743179
Option 4 ID : 6306801743180
Status : Answered
Chosen Option : 1
Comprehension:
“aeq ‘&‘Ii‘ £64 RILIQ 98I,
6a691 @aed geat dal QI
JSYQER 9o F4lR,
8@ QG ¢l 6R6eRIR”
-~ Q50Ig ARG 97 I Q@R &2 |
SubQuestion No : 9
Q9 g9g: ‘gegrqg a9y 2deq gL18 Q6M 961 689 ?
Ans X' 1.d3da
X 2. d26e4
X 3. dte
o 4. ST
Question ID : 630680446460
Option 1 ID : 6306801743152
Option 2 ID : 6306801743153
Option 3 ID : 6306801743151
Option 4 ID : 6306801743150
Status : Answered
Chosen Option : 4




Comprehension:

“cl6e ale g6l Flga 9818,

696191 @asd §6¢1 dal U8

Y8R 9o F4IR,

3% QI3 §Ia2e 6966RIR”

02 Q36Ig 2QHNRT AR 949 A8 {2l |

SubQuestion No : 10
Q.10 gg: 62691 RIQIg GLIAIN ?
Ans X' 1.Qld

X 2.9
o 3.9°¢
K 4,291
Question ID : 630680446461
Option 1 ID : 6306801743154
Option 2 ID : 6306801743155
Option 3 ID : 6306801743156
Option 4 ID : 6306801743157
Status : Answered
Chosen Option : 3
Comprehension:
“CI66 Q12 9641 FITIR 2SR,
6a9 Blasd g6a 9g1 e
9EgQE goq S4liR,
SR QG ¢llRRlS 6960RIR”
@ 950Iq ARG 97 IR 28R &2 |
SubQuestion No : 11
Q.11 g4: ‘Glaee’ 6 22 gale 982l ?
Ans X 1. 3¢l 2@e 9916
X 2.69194
«” 3.09%]
X 4. 981 QIGIPRR
Question ID : 630680446462
Option 1 ID : 6306801743160
Option 2 ID : 6306801743158
Option 3 ID : 6306801743159
Option 4 ID : 6306801743161
Status : Answered
Chosen Option : 4
Q.12 ‘QIRIZR ’ QALY FILIQ QLS ?
Ans X' 1. g6dga Fig
X 2. 691Tg12 q1918
X 3. q9eF6dla e
o 4. 9699 F19I18
Question ID : 630680446466
Option 1 ID : 6306801743176
Option 2 ID : 6306801743174
Option 3 ID : 6306801743175
Option 4 ID : 6306801743177
Status : Not Answered

Chosen Option :




Q.13 A sentence has been given with a blank to be filled with an appropriate option. Choose
the correct alternative.

He _ one of the first celebrities to have mastered the internet.
Ans o 1. was
X 2.are
< 3. were
& 4. have

Question ID : 630680446478
Option 1 ID : 6306801743216
Option 2 ID : 6306801743214
Option 3 ID : 6306801743217
Option 4 ID : 6306801743215
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option for the given blank.
Did you know she was then why didn’t you tell us?

Ans X 1.lying? If yes
&K 2. lying? If yes:
¥ 3. lying? If yes,
& 4. lying, If yes

Question ID : 630680446482
Option 1 ID : 6306801743231
Option 2 ID : 6306801743230
Option 3 ID : 6306801743232
Option 4 ID : 6306801743233
Status : Answered
Chosen Option : 4

Comprehension:
Read the following passage and answer the questions given below.
It is a truth universally acknowledged that a parent working outside the home must have
someone to take care of their child. In India, family structures have historically often filled this
need, with fathers working outside the home, and mothers providing child care and elder
care. However, this model is not conducive to India’s growing ambitions. If the country is to
grow into a $5 trillion economy, women must be included. There are two specific ways to get
here: women'’s work, often care work, must be appropriately valued, and women must be
adequately supported to participate in economic activity outside the home.
SubQuestion No : 15

Q.15 Which word means the same as the word ‘adequately’ in the passage?

Ans X 1. Miserably
«” 2. Abundantly
& 3. Horridly
< 4. Awfully

Question ID : 630680446476
Option 1 ID : 6306801743208
Option 2 ID : 6306801743207
Option 3 ID : 6306801743206
Option 4 ID : 6306801743209
Status : Answered
Chosen Option : 2




Comprehension:
Read the following passage and answer the questions given below.
It is a truth universally acknowledged that a parent working outside the home must have
someone to take care of their child. In India, family structures have historically often filled this
need, with fathers working outside the home, and mothers providing child care and elder
care. However, this model is not conducive to India’s growing ambitions. If the country is to
grow into a $5 trillion economy, women must be included. There are two specific ways to get
here: women’s work, often care work, must be appropriately valued, and women must be
adequately supported to participate in economic activity outside the home.
SubQuestion No : 16

Q.16 What is the structure of the passage?

Ans X 1. Descriptive
X 2. Process writing
#< 3. Cause and effect

” 4. Problem and solution

Question ID : 630680446474
Option 1 ID : 6306801743199
Option 2 ID : 6306801743200
Option 3 ID : 6306801743198
Option 4 ID : 6306801743201
Status : Answered
Chosen Option : 1

Comprehension:
Read the following passage and answer the questions given below.
It is a truth universally acknowledged that a parent working outside the home must have
someone to take care of their child. In India, family structures have historically often filled this
need, with fathers working outside the home, and mothers providing child care and elder
care. However, this model is not conducive to India’s growing ambitions. If the country is to
grow into a $5 trillion economy, women must be included. There are two specific ways to get
here: women’s work, often care work, must be appropriately valued, and women must be
adequately supported to participate in economic activity outside the home.
SubQuestion No : 17

Q.17 What should be done if the country is to grow into a $5 trillion economy?

Ans X 1. Men should take care of his child
¥ 2. Women must participate in economic activity
/5 3. Parents must spend more in their child’s education

< 4. Women should take charge of domestic activities

Question ID : 630680446475
Option 1 ID : 6306801743203
Option 2 ID : 6306801743204
Option 3 ID : 6306801743202
Option 4 ID : 6306801743205
Status : Answered
Chosen Option : 2




Q.18 A sentence has been given with a blank to be filled with an appropriate option. Choose

the correct alternative.

Not far away here, lies a poor woman

a little new-born baby.

Ans X 1.across, among
o 2. from, with
< 3. off, from
X 4. of, along
Question ID : 630680446480
Option 1 ID : 6306801743225
Option 2 ID : 6306801743222
Option 3 ID : 6306801743223
Option 4 ID : 6306801743224
Status : Answered
Chosen Option : 2
Q.19 A sentence has been given with a blank to be filled with an appropriate option. Choose
the correct alternative.
High winds create tornadoes.
Ans X 1.oughtto
< 2. must
" 3. can
X 4. shall
Question ID : 630680446477
Option 1 ID : 6306801743210
Option 2 ID : 6306801743212
Option 3 ID : 6306801743213
Option 4 ID : 6306801743211
Status : Answered
Chosen Option : 3
Q.20 Choose the option for the given blank that appropriately uses punctuation.
| ate so many things at her etc.
Ans X 1. party like pizza, Greek salad, cheesecake
25 2. party, like pizza Greek salad, cheesecake,
25 3. party, like, pizza, Greek salad, cheesecake
o 4. party, like pizza, Greek salad, cheesecake,
Question ID : 630680446481
Option 1 ID : 6306801743227
Option 2 ID : 6306801743228
Option 3 ID : 6306801743229
Option 4 ID : 6306801743226
Status : Answered
Chosen Option : 1




Q.21 A sentence has been given with a blank to be filled with an appropriate option. Choose

Ans

the correct alternative.

American critics have found fault with Mr. George.

X 1.a

X 2.an

X 3.the

" 4. No article

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446479
6306801743220
6306801743221
6306801743219
6306801743218
Not Answered

Q.22 Which of the following words in the passage means ‘prosper’?

Ans

Comprehension:

Read the following poem and answer the questions given below.

The plates will still shift

and the clouds will still spew.
The sun will slowly rise

and the moon will follow too.
Life’s beauty will continue

to flourish all around,

but now you are gone,
these birds have no sound.
And my heart does not beat.
It is still inside my chest.

My tears keep on falling

and my head will not rest.
But | have no choice only

to move through this life.
Endlessly attempting

to fill this longing that is rife.

SubQuestion No : 22

# 1. Longing
” 2. Flourish
75 3. Follow
& 4. Spew

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446472
6306801743194
6306801743195
6306801743197
6306801743196
Answered

2




Comprehension:

Read the following poem and answer the questions given below.
The plates will still shift

and the clouds will still spew.
The sun will slowly rise

and the moon will follow too.
Life’s beauty will continue

to flourish all around,

but now you are gone,

these birds have no sound.
And my heart does not beat.
It is still inside my chest.

My tears keep on falling

and my head will not rest.
But | have no choice only

to move through this life.
Endlessly attempting

to fill this longing that is rife.

SubQuestion No : 23
Q.23 Which of the following inference can be drawn from this poem?
Ans X 1.Anxiety and depression are permanent

25 2. People are selfish and you should concentrate on your work
@ 3. People go and come but life carries on

#< 4. Birds stop singing if someone becomes happy

Question ID : 630680446470
Option 1 ID : 6306801743186
Option 2 ID : 6306801743187
Option 3 ID : 6306801743189
Option 4 ID : 6306801743188
Status : Answered
Chosen Option : 3

Comprehension:

Read the following poem and answer the questions given below.
The plates will still shift

and the clouds will still spew.
The sun will slowly rise

and the moon will follow too.
Life’s beauty will continue

to flourish all around,

but now you are gone,

these birds have no sound.
And my heart does not beat.
It is still inside my chest.

My tears keep on falling

and my head will not rest.
But | have no choice only

to move through this life.
Endlessly attempting

to fill this longing that is rife.

SubQuestion No : 24
Q.24 The penultimate stanza is written in which tone?
Ans X 1.Acerbic

& 2. Aggressive
«” 3. Gloomy
& 4. Romantic

Question ID : 630680446471
Option 1 ID : 6306801743191
Option 2 ID : 6306801743193
Option 3 ID : 6306801743190
Option 4 ID : 6306801743192
Status : Answered
Chosen Option : 3




Q.25 gimilipal Tiger Reserve is located in which of the following district of Odisha?

Ans 1. Mayurbhanj

X 2. Balasore

& 3. Cuttack
X 4. Kalahandi
Question ID : 630680446491
Option 1 ID : 6306801743268
Option 2 ID : 6306801743269
Option 3 ID : 6306801743267
Option 4 ID : 6306801743266
Status : Answered
Chosen Option : 1
Q26 The Baghua is a tributary of which river?
Ans 1. Rushikulya
X 2. Brahmani
X 3. Baitarani
& 4. Mahanadi
Question ID : 630680446492
Option 1 ID : 6306801743273
Option 2 ID : 6306801743270
Option 3 ID : 6306801743272
Option 4 ID : 6306801743271
Status : Not Answered
Chosen Option : --
Q27 Arrange the following rivers of Odisha from North to South.
I. Baitarani
II. Mahanadi
III. Budha Balanga
TV. Brahmani
Ans o 1. TII-I-TV-II
X 2. OI-IV-I-II
X 3. T-TI-TV-I
X 4 II-I-II-1V
Question ID : 630680446494
Option 1 ID : 6306801743279
Option 2 ID : 6306801743280
Option 3 ID : 6306801743278
Option 4 ID : 6306801743281
Status : Not Answered

Chosen Option :




Q.28 As per the Indian Constitution, which of the following is NOT mentioned as a Fundamental Right in India?

Ans

X 1. Abolition of titles
X 2. Right to education

& 3. Protection of interests of minorities

« 4. Right to Privacy

Question ID : 630680446489
Option 1 ID : 6306801743259
Option 2 ID : 6306801743258
Option 3 ID : 6306801743260
Option 4 ID : 6306801743261
Status : Answered
Chosen Option : 4
Q.29 WWhich Part of the Indian Constitution is related with the provision of citizenship?
Ans X' 1. Part ITI
X2 Part IV
X 3 Partl
4 PartI1
Question ID : 630680446487
Option 1 ID : 6306801743252
Option 2 ID : 6306801743253
Option 3 ID : 6306801743250
Option 4 ID : 6306801743251
Status : Answered
Chosen Option : 4
Q.30 Inthe context of the Delhi Sultanate, which of the following pairs of ‘ruler— period of rule’ is correctly matched?
I Ghiyasuddin Balban — 1256-1267
1L Jalaluddin Khalji — 1290-1296
Ans X 1. Neither I nor II
« 2 Only I
X3 OnlyI
X 4 BothIandII
Question ID : 630680446486
Option 1 ID : 6306801743249
Option 2 ID : 6306801743247
Option 3 ID : 6306801743246
Option 4 ID : 6306801743248
Status : Not Answered

Chosen Option :




Q.31 In the context of the Delhi Sultanate, Khizr Khan belonged to which of the following dynasty?

Ans

« 1. Sayvid dynasty
X 2. Tughluq dynasty
X 3. Lodi dynasty

X 4. Khilji dvnasty

Question ID : 630680446484
Option 1 ID : 6306801743240
Option 2 ID : 6306801743239
Option 3 ID : 6306801743241
Option 4 ID : 6306801743238
Status : Answered
Chosen Option : 2
Q32 Which of the following was the tax on cultivation under Alauddin Khilji?
Ans X 1. Ghari
X 2 Igta
X 3. Charai
« 4. Kharaj
Question ID : 630680446483
Option 1 ID : 6306801743234
Option 2 ID : 6306801743235
Option 3 ID : 6306801743236
Option 4 ID : 6306801743237
Status : Answered
Chosen Option : 2
Q.33 Which of the following statements is correct regarding the mineral resources of Odisha?
I. Odisha was the largest bauxite producing state in India in 2016-17.
II. Odisha was the second largest manganese producing state in India in 2016-17.
Ans X 1. Both I and II
X 2 OnlyII
3 Onlyl
X 4. Neither I nor II
Question ID : 630680446493
Option 1 ID : 6306801743276
Option 2 ID : 6306801743275
Option 3 ID : 6306801743274
Option 4 ID : 6306801743277
Status : Answered

Chosen Option :

1




Q.34 As per the Indian Constitution, the President shall be elected by the members of an electoral college consisting of

T the elected members of both Houses of Parliament

II. the elected members of the Legislative Assemblies of the States

« 1. Diwan-i-Arz
X 2. Diwan-i-Qada
X 3. Diwan-i-Mustalkhraj

X 4. Diwan-i-Wizarat

Ans X 1. Only II
X2 OnlyI
X 3. Neither I nor II
+ 4 BothIandII
Question ID : 630680446490
Option 1 ID : 6306801743263
Option 2 ID : 6306801743262
Option 3 ID : 6306801743265
Option 4 ID : 6306801743264
Status : Answered
Chosen Option : 1
Q.35 The was instituted especially to look after the military erganisation of the empire, during the Delhi Sultanate.
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446485
6306801743243
6306801743245
6306801743242
6306801743244
Answered

1

Q36 YWho is the head of the Council of Ministers at Centre level?
Ans X 1. Vice President

X 2. Speaker of Lok Sabha
+ 3. Prime Minister
X 4. President

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680446488
6306801743255
6306801743257
6306801743256
6306801743254
Answered

3

Section : Part Il Pedagogy




Q1 @IFl 2ILRE 6ALER 6R6C1T gEJsl @8l QER?
Ans 1.4

K22
X 3.6
K 4.3
Question ID : 630680446495
Option 1 ID : 6306801743282
Option 2 ID : 6306801743285
Option 3 ID : 6306801743283
Option 4 ID : 6306801743284
Status : Answered
Chosen Option : 1
Q2 gI09@ 92SI SUDA 69Q QGI R 219?
Ans X 1 Qe
X 2.90@
X 3. 8 6 dog
o 4. 929 B 994
Question ID : 630680446502
Option 1 ID : 6306801743310
Option 2 ID : 6306801743311
Option 3 ID : 6306801743312
Option 4 ID : 6306801743313
Status : Answered
Chosen Option : 4
Q3 669 QY QASI d90IQ dig1e?
Ans X' 1. Q4
X 2. Q%e
¥ 3.dOo@
X 4.q29
Question ID : 630680446496
Option 1 ID : 6306801743289
Option 2 ID : 6306801743288
Option 3 ID : 6306801743287
Option 4 ID : 6306801743286
Status : Answered
Chosen Option : 1
Q4 “qaIg” 69Q 2AGIQ 6¢1IAR ARNN?
Ans X' 1.QQ6ql
o 2. g9l
< 3. 6mgQl
X 4.98%l
Question ID : 630680446497
Option 1 ID : 6306801743290
Option 2 ID : 6306801743291
Option 3 ID : 6306801743292
Option 4 ID : 6306801743293
Status : Answered
Chosen Option : 3




Q5 6Rad QA QUGIQ gay §6€ ?

Ans

X 1. ARSI

o 2. 96596 K9
X 3.9991 694l

X 4. A1g-9994 699!

Question ID : 630680446498
Option 1 ID : 6306801743296
Option 2 ID : 6306801743297
Option 3 ID : 6306801743294
Option 4 ID : 6306801743295
Status : Answered
Chosen Option : 2
Q.6 §iaq JAQIF A6 QL] QUER 6MGIT?
Ans .7 1. QRIYGI
X 2.9a¢
X 3.91g
&K 4.ARNAT
Question ID : 630680446500
Option 1 ID : 6306801743302
Option 2 ID : 6306801743304
Option 3 ID : 6306801743305
Option 4 ID : 6306801743303
Status : Answered
Chosen Option : 1
Q.7 eroc A9gI6Q &9, €08 G948 §i8l @qUdS 69 dras6q G688l 2N aqlem?
Ans X' 1.Q@ Q109
X 2. @q dalea
o 3. Qlm
X 4. 9@
Question ID : 630680446499
Option 1 ID : 6306801743298
Option 2 ID : 6306801743299
Option 3 ID : 6306801743300
Option 4 ID : 6306801743301
Status : Not Answered
Chosen Option : --
Q.8 66Q @86l em el §ﬂﬂﬁ‘§§‘_ £129°6 RG] AlRIFER IR SQUINE?
Ans . 1.d0Q
X 2.996
X 3.2
X 4. Q89
Question ID : 630680446501
Option 1 ID : 6306801743309
Option 2 ID : 6306801743306
Option 3 ID : 6306801743308
Option 4 ID : 6306801743307
Status : Answered
Chosen Option : 3




Q9  Which of the following is a characteristic of a good listener?

I. Someone who uses effective gestures and postures while listening.

II. Someone who is ready to listen for learning in any circumstance.

Ans X 1. Neither I nor II
X2 OnlyI
« 3. BothIandII
X 4 Only I
Question ID : 630680446505
Option 1 ID : 6306801743325
Option 2 ID : 6306801743322
Option 3 ID : 6306801743324
Option 4 ID : 6306801743323
Status : Answered
Chosen Option : 4
Q10 Which of the following characteristics of skimming technique is correct?
Ans X 1. The reader reads each line two times.
#< 2. Itinvolves method of searching out something in a factual manner.
«” 3. The reader reads the text quickly to have an idea of the concept.
&K 4. ltis a selective reading method.
Question ID : 630680446506
Option 1 ID : 6306801743328
Option 2 ID : 6306801743327
Option 3 ID : 6306801743329
Option 4 ID : 6306801743326
Status : Answered
Chosen Option : 3
Q.11 Itis believed that teaching of a language means teaching what has been traditionally
known as as the objectives of language teaching.
Ans & 1. LSRW skills
X 2. PSRW skills
X 3. SCLR skills
X 4. CRW skills
Question ID : 630680446504
Option 1 ID : 6306801743320
Option 2 ID : 6306801743318
Option 3 ID : 6306801743321
Option 4 ID : 6306801743319
Status : Answered
Chosen Option : 1




Q12 Which of the following is a linguistic principles of teaching English?

Ans

« 1. Selection and gradation

X 2. Motivation

& 3. Immediate correction

X 4. Frequent review

Question ID : 630680446509
Option 1 ID : 6306801743341
Option 2 ID : 6306801743338
Option 3 ID : 6306801743339
Option 4 ID : 6306801743340
Status : Answered
Chosen Option : 2
Q13 Dialogue presentation does NOT involve which of the following aspects?
Ans X 1. Arouses interest and curiosity
« 2. It helps in conducting organized argument.
x 3.
Helps in sustaining the attention of children with pre-questions.
X 4. Helps in creating familiarity with actual utterances
Question ID : 630680446510
Option 1 ID : 6306801743342
Option 2 ID : 6306801743345
Option 3 ID : 6306801743344
Option 4 ID : 6306801743343
Status : Answered
Chosen Option : 2
Q.14 Which of the following factors are related to eventual outcome of the language study?
I. Person’s prior knowledge
II. Personality
Ans X 1. Neither I nor II
X2 OnlyI
3. BothIandII
X4 Only I
Question ID : 630680446503
Option 1 ID : 6306801743317
Option 2 ID : 6306801743314
Option 3 ID : 6306801743316
Option 4 ID : 6306801743315
Status : Answered
Chosen Option : 3




Q.15 A short intimation used in the offices for formal communication purposes are called
Ans X 1. articles
+ 2. notices
X 3. advertisement

X 4. reporting

Question ID : 630680446507
Option 1 ID : 6306801743330
Option 2 ID : 6306801743331
Option 3 ID : 6306801743333
Option 4 ID : 6306801743332
Status : Answered
Chosen Option : 2
Q16 Teaching English prose enables the learners to
I. enrich their active and passive vocabulary
II. develop their imagination
Ans X 1. OnlyII
2. Neither I nor II
X3 OnlyI
4 BothIandII
Question ID : 630680446508
Option 1 ID : 6306801743335
Option 2 ID : 6306801743337
Option 3 ID : 6306801743334
Option 4 ID : 6306801743336
Status : Answered
Chosen Option : 4
Q.17 Which of the following statements is correct regarding the regional approach to learning geography?
1. In this approach, the world is divided into regions at different hierarchical levels and then all the geographical
phenomena in a particular region are studied.
II. This is also known as topical approach through which we study particular phenomenon in detail and in holistic
manner in a given region.
Ans X 1. BothIand II
X2 OnlylI
& 3. Neither I nor II
« 4 OnlyI
Question ID : 630680446515
Option 1 ID : 6306801743364
Option 2 ID : 6306801743363
Option 3 ID : 6306801743365
Option 4 ID : 6306801743362
Status : Answered
Chosen Option : 1




Q.18 _ evaluation is specially conducted for identifying the learning difficulties and to solve them.
Ans X 1. Placement
X 2. Formative

« 3. Diagnostic

X 4. Summative

Question ID : 630680446516
Option 1 ID : 6306801743368
Option 2 ID : 6306801743367
Option 3 ID : 6306801743366
Option 4 ID : 6306801743369
Status : Answered
Chosen Option : 3
Q.19 Which of the following statements is correct regarding peer assessment?
I It is based on the strength of peer interaction and dealings.
II. The peers read the answer of one another and provide observations or comments for further improvement.
Ans 1. BothI and II
X2 Only Il
3. Neither I nor II
X4 OnlyI
Question ID : 630680446518
Option 1 ID : 6306801743376
Option 2 ID : 6306801743375
Option 3 ID : 6306801743377
Option 4 ID : 6306801743374
Status : Answered
Chosen Option : 1
Q.20 In the context of specific objective of teaching social sciences, which of the following themes is associated with
developing a sensitivity towards pluralism and interdependence?
Ans X 1. Markets around Us
« 2. Diversity
X 3. Economic Presence of the Government
X 4. Making a Living
Question ID : 630680446511
Option 1 ID : 6306801743346
Option 2 ID : 6306801743347
Option 3 ID : 6306801743348
Option 4 ID : 6306801743349
Status : Answered
Chosen Option : 2




Q.21

Scholastic assessment of student performance in various subject areas is done through
I formative assessment

II. summative assessment

Ans 1. BothIandII
X2 OnlyI
X 3. Neither I nor II
X4 OnlylI
Question ID : 630680446517
Option 1 ID : 6306801743372
Option 2 ID : 6306801743370
Option 3 ID : 6306801743373
Option 4 ID : 6306801743371
Status : Answered
Chosen Option : 1
Q.22 is an effective way of teaching students through collection of pictures pertaining to an event, a process, etc.
Ans X 1. Problem Solving
« 2. Scrapbook
X 3. Panel Discussion
X 4. Concept mapping
Question ID : 630680446514
Option 1 ID : 6306801743360
Option 2 ID : 6306801743359
Option 3 ID : 6306801743361
Option 4 ID : 6306801743358
Status : Answered
Chosen Option : 2
Q.23 Which of the following statements is correct in the context of the aims and objectives of teaching social sciences?
I. Those who study geography are better prepared to understand issues impacting our planet earth.
1. Those who study geography are well positioned to comprehend and explain global pelitical issues that occur between
countries.
Ans X 1. Only I
X 2. Neither I nor II
+ 3 BothIandII
X4 OnlyI
Question ID : 630680446512
Option 1 ID : 6306801743351
Option 2 ID : 6306801743353
Option 3 ID : 6306801743352
Option 4 ID : 6306801743350
Status : Answered
Chosen Option : 3




Q.24 Problems which demand ereative or innovative solutions can be presented by the teacher to the students for

Ans

X 1. symposium
X 2. debate
X 3. discussion

« 4. brainstorming

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Chosen Option

630680446513
6306801743356
6306801743355

: 6306801743357
Option 4 ID :

Status :
14

6306801743354
Answered




